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No. BAR-HAS4A X5 E2BM)
1|REEI—TEB®ESR HITHT1T B (1~40%) 1,200
2| AR L R E
3| TETHRR HThr2~4TBDO—EB 1,200
{RBEEBARR RTE3T H21~33% 1,100
S5|FR#MERE R-H RTET3T H21%17-33%14~21-34F1~6 1,000
6|E D F/N—IN\OREEES FEET1 T B 1&F20(EDF/8\—2/\VR) 0
7|BETET =T BRI FETET2T B, i3 T BH23% 1,800
8| REHAR FTE4TE1~2-5~7-9% 1,200
EdbANES M1 TESBET/\—F55H 10,000

10|EmIT—THBAS FET1 TH2~14% 2,400
1| =T ElTS MET2TEH1~4-6~13-17~18% 2,400
12(EnFEA= FET2T EH14~17%, FEI3TE 1-7~20% 1,200
13|EET=TBEREHN= MBS TH2~6:26~33% 1,200
4| HMEES>FHEEAT=TE7/\—FBAS FET3T B9%20-255 7,200
15|ARHEM1-2T BERETS ABE1TH, ABET2TH3~8-16~17%& 2,400
16| ARBTZT B {HET= AET2TH1~15% 3,600
17|XRBET=T BiLEr= AET2TEH19~25% 1,200
18|XET=T BRATR AEI3TE1~10%, 20%& 2,400
to| KET=mEme ﬁg?ﬂ'ﬁgww%, AET4T B21%14~25-22%1~2-23%1~12- 9 400
20(AETT BETS AEATH1~21% 2,400
21 ([EAFABRTUT B7/\—MMERBBR KETATEH17TE1~45 1 1,800
2|x%—THRITAS AZ1THE1~2-8~14%F 1,200
23| X% —THBITAS AZL1THI~7& 1,200
25| X2 _THHETN= X%2TH 1,200
26| K2 =T HEEHN= AXEZ3TH1~8% 1,200
27| AZ =T BHILETAR A%Z3TH9~25%& 1,200
28| XM T HRATAS AZATH11~18%F 1,200
29| X & T HBATAS AZ4ATHI~1E 1,200
0| XL HTHRATAS AE5THEH1~7-17-23BN—%-24~29% 1,200
31|AZRETHAEIEAS AE5TH8~16F - 17TED—&-18~22F - 23BN — 5 1,200
R2|Za—ERFNIVYBER KZ2THIFI19(Za—EHF/NIY) 600
B|WLIE WTFAHR RET1TE1~3-12% 1,200
34| RET K= RET1TH 1,000




No. BAR-HNS4A X E2BM)
35| RInEER—#E RET1THS% 2,400
36| REE S—#f RE1TH6-7& 0
JV|EEE +=# RET1TEHSE 500
B(ERMEE FE—H RETMTTHO~11FH 1,200
9 HIEE FE=# RET1TE10& 300
0T avEnFREERS RET1TE10B29(XV L avERFR) 0
M(RYE ks RET1THE12~13-15~17%& 500
2| ERE SRET1THB18%F 1,300
43| RETHRX S RET1TH18%5-23, 19%2~12, 20%2~3-8-20~21 2,000
44|1RRE RET1TH20&135-21&10548 3,600
WBIEFFHREAAZTE7/A—FEBSR RE2TBE7& 24,000
46| RETHEBASR SRET3TH8~26% 1,800
47(JRRETHEBRBR SRET3T B 16332 6,000
48| RET=T BHRAN= RETSTHEH1E-3%5-7-6% - 7%-17%-26~28% 1,800
49|&DER RET3TH17-28~29-32-37% 1,200
50| RET=TEHWWS #BAR RETBTH3IE RE
53| EES FEMBYIEEEMES RET3TH4~5% 0
54 BEHAR RET3TBH3I0HF 18,000
56| R, ZE=THHBHAR RAE,E3TH 1,200
57| A, ZEMTHBAR RAE,ZEATE1~29% 1,200
58| Lo L BAR RAE,ZEATH 100
59| A, EATHBAER RAE,ZEGTH 2,400
N E?E:;%lgE;ﬁ»;é;ﬁé’iltésggimewﬂ, 10~15% 11 ~15-30~35, 2 400
61|FEESFILOBER AR, E2T B3~9%F i 2,000
62| ALy E—THBAESR A E1THS8~915~18-22~50F 1,400
s3lmErE-TEERS éﬁ;gzm-%zTE11§iﬂ2~12§iﬂﬂ,22-18§1’¢11 ~19H#035- 20 Hh 1 ~ 1,000
64| E=THRBASR mE,EITH 1,200
65|, EMNT HBAS RS EATH 1,200
66| B HETETN = BEE1~4TH 500
67| KBABAR HEE1THS5~6-8~10%&H, B, ZE2T H10~11-22~25% 1,000
68| B SETHT = AEET2T B1&i# 1,200
69| B SETE = AEET2T B2~3F M (7=1ZL, 3FM18%R<.) 0




No. BAR-HAS4A X E2BM)
O ESH=TEBAS AEET2TH11~13-15~20-22-30~37& s 1,200
- F—y
2|MENE1TEELAT/—+ REE1TB1EM1 (AT /—M5H) 12,000
13| NEER RNE2T B 1~15%# 2,000
TA|NEREBAR HEE2T B34FEHh14-16-19 0
15| NEAEYR A2 T B30&Fth5~34-31F 5 ~21 1,000
16|NE_TERBAR HNEE2T B35F M6 ~ 951 - 401 ~ 55 18,000
T|NE—TERMEE=7/\—rBER M1 THOEM (MEE=7/—F1~358) 0
olFrEBEe %Tfé;)i;ﬁiﬂ%%zjrgg—a' EXX1~2THO—EB, BEHE2 1.200
80| EHEBAR FEITE2Z2EM@EEFS1TET/A—H) 12,000
I EBEHFESEERRR FERATHUEM(@EFF4ATET /M) 0
82MEFE—TEE27/\—MIEBAR FE1TB24%H 18,000
83| BEAR RFE1TH25%H 0
84|/ RBEBS EXAR1TH15~20%H 1,500
85| B AT — D= ELTAR1TH23E M 17~24-24FHh11~21 1,500
86|ELA—TEEMBRS ELXAXR1TH25~26FHD—ER 500
88|EtA—THBEEAR ELTAR1THS - 10~14-28~32%ith 1,800
8ETAR_TEBERESR ExX2TH 1,200
WELA=TEEAS ETAITH1~22% 1,200
NELAR=TEHE27/\—rEAR E1TA3TH6E 12,000
2|hMEBEAER ELAITHI3EMI (HEZELARITET/N—F 1~258) 12,000
93[JRARI 7 /A—FEAER JLET1 T B44~45FHh (JRIET 7 /3\—F) 24,000
4 AHTRER B AR FE1TH-2TH1~75i 1,500
o5| LBt E e A e i‘éﬂlﬁ THB7~33-36%th, B2 T B9~20%F i, HETSTH2~29% 1.200
96| A PFER FEET1 T B2&#124~29 (B 57 FEET1 T B 7/3—k) 12,000
98| FRHET R A= FAET1 T B20~31%&h 1,500
9| HEFEHBAR THET1 T H27&h46~55 0

101|KHER FHET2T B 14%h1~22 1,000

102| PR = FHET2 T H16~17%Fth 1,500




No. BAR-BTAS Xz E2&M)

104|E RS FEET2T B21F/ D —EB, 24~26FHh 2,000
105|EER FET2 T B 35% it 14~38F 32, FAT3 T H25%F 8 ~29F 16 1,500
106| =FATEAR FEET2T B20% i 0
107| = EBAR FAETS T H1&#h2~27-2FHh11~16 0
108| [T PEEHEFMERMES FEETAT B 1531 ~42 0
109|FEET - KETH = FAT2~5TH 1,500
10| FE BT FP BRET = FAT1~5TH 1,800
1M1 |BEETETB7/\—rEBS FEETS T H22%F M (5T B7/\—~5~95#) 2,400
112|FBETE bR FAET2 T B18&#h18~35 0
MI|EARETBRAR =AE1~3TH 1,800
5| FHET— T BEBAR FE1TB7~14%1 1,800
H6|FETH T X D= HET1 T EH13~15%th 2,500
NI FEZDEEAR HET1T B18~19%H, #FHET2TH1~2FHD— 1,200
8| FHETEDERAR #ET2T B 2% Hh24~98-5%Hh13~58 2,000
IREIE e Ry (=P HET2TH6~10-13%Fih 1,200
120| X EHETE AR #HET1~3TH, #HfiAET2TH 1,200
121|HET=THE®ASR HET3TH1-2-8-10~24% 1,200
122 BT =T BHRER #ET3T B23~26% 1t 1,000
123|EneEESFHES JLET1 T E8-18~23%ih 2,400
126|ii KET2 THEDER AAET2T H29% 4 ~26 0
127|HiKET3 T EEEBASR WARETST BH19~21, 24~25%Hh 2,000
128| AT AEREE B AR JLETAT B 1-3%F#:, JLET5T H23~24% i 0
129|7aA - D4—ILATALT-a— EEMAE  (RE,ZE2T B15E#1 0
130T aA-T4—ILRXTA—J T+ EEBHEE RAELE2T B2FH 0
BUTaFdT7AZa—EIL/—TILEAR FHET1 T B 17%ih16~68 3,600
132|9 R—INIRERFNEOHEEMS |REVE1TE 0




